o = Due Tuesday!

@& Unit 6 Assessment

Study Guide'

P Check Vocabu!ary 2 !
Choose the best term from the box to complete the L Yocab‘ilaw
sentence. line symmetry
. A isaquadrilateral with exactly one - paraliclogranmt________
pair of parallel sides. . ::7) . | AR
il s
2. Ashapehas ~____ifitcanbe folded about a

line so that its two parts match exactly (p. 371)

3. A hasone endpoint and continues
without end in one direction. . 355

P Check Concepts

Tell if the blue line appears to be a line of symmetry.
Write yes orno. §ciac:

4,

Use Figure A for 7-9. % woczce
7. Name a pair of perpendicular lines,

8. Name a pair of intersecting lines that are not
perpendicular.

9. Classify ZAGD. Write acute, right, or obtuse.
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Fill in the bubble completely to s r answer.

10. Which describes the shape? Bmccac3

@) zero lines of symmetry
1 line of symmetry |
(© 2 lines of symmetry
() more than 2 lins of symmetry
11. Which figure does not have two pairs of parallel sides? Bmcca.c.2
® parallelogram © rhombus
trapezoid (D square
12. How many right angles can be in an obtuse triangle? B mccaG2
@ o © 2
1 _ © 3

13. Which' is the correct label for a right angle in the figure? B mccs.c.1

@ +xyZ © 2zxy
LXYW LZyX z
14. Which of the following letters of the alphabet has line symmetry? 8
B mccaas , g
@S 2
F £
©H 5
O®ON £
B
]
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Name wy_eu‘:de_ D (4 WLSMP’ !
, ;TES :: |
PREP |

Fill in the bubble completely to show your answer.

15. Which statement is true? R mccac2 I

- @ Atrapezoid can never have a right angle.
A parallelogram can never have a right angle.
© A rhombus is a type of trapezoid.
(D A square is a type of parallelogram.

16. Which lines appear parallel? Bmcca.c1

® 1 ©

RN = SRR
Y y
{8. What is the measure of ZWXZ?
T 0)
PP M AP E ST
, Y {2
25
P %
w X

~17. Which describes the shape? Bmccacs

83°
: © 88°
@) zero lines of symmetry | ®@ 97°
()1 line of symmetry g
3 3. Which equation can you use to find the
© 2 lines of symmetry NG |
©) 4 lines of symmetry o
3 .\ Bt 14?;
20.  What is the measure of i . Q

the unknown angle in the figure?

@ 220 n
s @ 148° - 24° = [
68
o 2 - 148° x 24° = BB
158° X © 148° - 24° = Wl
- ® 148° + 24° = [
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Practice 1 Due Tawrsday

Circle all the numbers that are a myltiple of 10: 10, S, 2, 30, 20
Circle all the nymbers that are a myltiple of 8: 4, 16,2, 8, 12,3

Circle all the numbers that are a multiple of 7:7, 14, 2,21, 3

A vending machine has 32 rows of fake tattoos. Each row contain$ 16
tattoos. How many total tattoos does the machine contain?

What is the product of 3,456 and 67

Write the decimals as fractions.

0.67 0.35
03 0.40
0.4 0.52
0.1l 0.88

Name the angles based on their measurements. (acuke.0ltuse,or rignt)

98 degrees I3 degrees
179 degrees IS4 degrees
90 degrees 75 degrees

Oraw three shapes that are symmetric. Draw at [east | line of
Symmetry through each shape to prove they are-symmetric.
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Lm& Plot

ractice
Complete the line plot for the given set of data.
1. amount of meat on sandwich: % Ib, 2. lengths of ribbons: % yd, % yd, % yd,
1 1 1 1 1 1 1 1 1 1 1 1 S 1
2 b, z1b, 8 Ib, z1b, 2 ib, glb. z1b, 3yd, gyd, iyd, 3 yd, 3 yd, 3 yd, 3 yd
1 | 1 3
31b.z31b, zlb, glb Lengths of Ribbons (in yards)
Amount of Meat on Sandwich
(in pounds)
i | t { t t t —>
] 1 2 3 4 5 L]
it ! + f e s ¢ 6 6 8 6 ’
0 1 2 3 8
8 8 8 8 8

--------------------------------------

REMEMBER Draw an x :
for each piece of data.

.......................................

Use the line plot foriproblem ljto complete questions 3-5.

3. The total number of sandwiches is

4. The total amount of meat in the sandwiches that have% pound of meat

is pounds.

S. Howmuch more meat is in all the sandwiches havnng 5 pound of meat than there is in
all those having g pound of meat?

Use the line plot forjproblem 2Jto complete questions 6-8.

6. Thereare ribbons that aré-.l;yard long. -

yards.

7. The total length of the ribbons that are %- yard long is

8. Thedifference in length between the longest ribbon and the shortest ribbon

yard. - "

is
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5" Line ot Practice ‘

' ke 8 ine plot 10 sthow the data.
9. me spent on OOl bus . |
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